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Math 321 - Spring 2013 - Test 4

Instructor: Dr. Francesco Strazzullo Name
Instructions. This is an open book exam and you are free to use technology. Iach exercise is worth 10
points. When using a formula report its number and page reference.

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Consider the recursive sequence defined by
1
[£5] 72, a‘h-l-l =4 - —,
(a) Prove that for every natural number n we have 2 < a,, < 4.
(b) Prove that this sequence is monotonic.

(¢) Refer to a Theorem that ensures the convergence of a, and compute its limit.
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2. Use the Integral Test to determine thc convclgoncc of the series E ———-—( 2 i D
ne -+
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3. Find the interval of convergence (with endpoints check) of the power serics Z:‘
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4. Determine the convergence and/or the absolute convergence of the lollowing series (do not find the
sum, if it exists). Each part is worth 10 points.
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5. Use the MacLaurin series for In(2+1) to determine the MacLaurin series for the function h(z) =
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6. Find the Taylor serics centered at f01 f(z) = cosz. First compute the first four laylm polynomials.
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